	8.1 Answer Key
	8.2 Answer Key

	1. a) endothermic

b) exothermic

c) exothermic

d) extothermic

e) endothermic

2. Enthlpy is the total energy that is associated with a given chemical reaction and/or process. Entropy is the total disorder of the system. Molecules like to be in disorder because it is the more favorable orientation. Therefore, a system will tend towards more entropy whenever possible

3. The average kinetic energy is staying the same, but the system is gaining more potential energy

4. The distance between the molecules becomes wider.

5. vaporization

6. condensation

7. 0 oC

8. 100 oC

9. C

10. A (think of latent heats when answering this question)

11. A

12. Endothermic. You can tell due to the formation of frost. This frost formation indicates that heat is being absorbed by the system. Therefore, this absorption of heat indicates that the reaction is endothermic

13. About 750 oC

14. Gas

15. 50 atm and 350 oC

16. The substance would go from the solid to gas phase. It would sublime

17. It cannot be boiled due to the fact that it exists as a gas at all temperatures when you are at atmospheric pressure.

18. No, it is a gas at 1 atm
	1. q=(75)(0.449)(6) = 202.05 J

2. q= (45)(0.897)(72.2) = 2,914.353 J

3. 
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980,000J = (6200g)(4.18 J g⋅ oC)(Tf − 291)



980,000J = 25,916Tf − 7,541,556
8,521,556 = 25,916Tf
329oC = Tf
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5. q = (23.0g)(334 J/g) = 7,682 J

6. q = (23 g)(2260 J/g) = 51,980 J

7. q = (1000 g)(4.18 J/gxoC)(90 oC) = 376,200 J
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